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What Did the Baby Buzzard Say When It Saw
an Orange in the Nest?

Solve each problem below. Find your answer in the answer column and notice the letter next to it.
Write this letter in each box that contains the number of that problem.

half of his father's weight. What is P
? 77 kg

Twelve decreased by 8 times a _ W his father's weight?

number is 38. Find the number.
@ A medium orange has 70 calories.

Unareigitinel a number, 7 This is 10 calories less than one

@ Two more than 5 times a number m. @v The length of a rectangle is 50

is 77. Find the number. .l\|| meters. This is 6 meters more

_ than twice the width. Find the

@ Five more than one third of a = \ width. A-m

number is —2. Find the number. fordi

@ Grandpa Schmidt is 75 years old.

@ Nine less than one fourth of a This is 9 years less than seven

number is 6. Find the times the age of Junior Schmidt.

number. hﬁw How old is Junior? \\ yr
(4) sixteen increased by twice -2l (1) Bill's weight is 48 kilograms. This

number is —56. Find the number. L is 10 kilograms more than one
®
® |

506%%& by 20, is 32. Find the FW\:M fourth of the calories in a Sugar

HLERSEE, — Krunchy. How many calories are P
@ Twenty-five decreased by one fifth - in a Sugar Krunchy? 270

of mwéacmﬂ l6: 18- Find the MM @ The length of a couch is 200

QLRS- centimeters. This is 16
e,\ Nine times a number, diminished \\ centimeters less than 3 times the

by 4, is 95. Find the number. sl
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wide is the chair? 2 cm
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